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Section : General Intelligence

Q.1
RPN D2
Ans x1. Y
vz
K3 W

X4 X

Which letter will replace the question mark (?) in the following series?

Question ID : 8161614928
Status : Answered
Chosen Option : 2

Q.2  select the correct option that indicates the arrangement of the following words in a logical and meaningful order.

1. Receive

2. Selecting goods

3. Return

4. Placing Order
5. Add to Cart

Ans o
5 2
5 3.
v 2

4,
4,
2

2

2, S50
Pt T |
e s Tl |
io4 1;3

Question ID : 8161614918
Status : Answered
Chosen Option : 4
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Q.3  Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.

VIDEO : UWHIWDENP :: GROUP :

Ans 1 FHQSLSWOR
X 2. FIQSKTWOQ
X 3 FHPSKTVOQ
v 4 FHQSLTVOQ

Question ID : 8161614916
Status : Answered
Chosen Option : 4

Q.4 Two statements are given, followed by three conclusions numbered I, IT and ITI. Assuming the statements to be true,
even if they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s)
from the statements.

Statements:
All wallets are bags.
Some bags are envelopes.

Conclusions:

L Some wallets are envelopes.
II. No wallet is an envelope.
III. No bag is an envelope.

Ans X 1. Both Conclusions I and II follow
#< 2. Both Conclusions II and III follow
' 3. Either Conclusion I or II follows
#< 4. Both Conclusions I and III follow

Question ID : 8161614933
Status : Answered
Chosen Option : 3
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Q.5

Ans

Select the figure that will come next in the following figure series.

® ® % 5||® % «|||® % =«
*® & o] | = - X & X X 3
o s ol[le o off|e . .
* @ @ . & @ * @ a8 (@
* X X
J‘]..M’.K
X
K2 |x
X
K3 |x e x
X X
X4 |l x x
.

Question ID : 8161614937
Status : Answered
Chosen Option : 1

Q.6 Select the correct mirror image of the given combination when the mirror is placed to its right side.

Ans

FaCtOrYlAyOuT

v i TuOYAI'Y101D87
X 2 TyOuATYI01D8q
X 3 ESCIOIALVIOAL
< 4 EICIOLAIV2AONL

Question ID : 8161614940
Status : Answered
Chosen Option : 1

(4)
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Q.7 Two statements are given, followed by three conclusions numbered I, IT and ITI. Assuming the statements to be true,
even if they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s)
from the statements.

Statements:
Some boys are brave.

All boys are punctual.

Conclusions:
L Some brave are boys.
II. Some punctual are boys.

TII. Some brave are punctual.

Ans X 1. Only conclusions II and III follow.

« 2. All conclusions follow.
#< 3. Only conclusions I and II follow.

/< 4. Either conclusion I or III follows.

Question ID : 8161614932
Status : Answered
Chosen Option : 2

Q.8 If MEGASTAR is coded as 76 and ENTER is coded as 57, then how will CAPSI. OCK be coded as?

Ans X1. 20
<2 88
v 72
< 4 64

Question ID : 8161614926
Status : Answered
Chosen Option : 3

Q.9 Inacertain language, ABSOLUTE is written as ETULOSBA. How will CHAMPION be written in that language?

Ans 1. NOIMPAHC
v 2 NOIPMAHC
< 3. AHCPMNOI
& 4 AHCMONPI

Question ID : 8161614922
Status : Answered
Chosen Option : 2
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Q.10 Select the combination of letters that when sequentially placed from left to right in the gaps of the given letter series
will complete the series.

ke _dik_ _d k_cdlk c_

Ans X 1. clelede
< 2 ccllede
#< 3. leledee
' 4 cecleed

Question ID : 8161614929
Status : Answered
Chosen Option : 4

Q.11 Which two signs and two numbers should be interchanged to make the given equation correct?
6 +3x2+4-7= 265

Ans
X 1. 6and 2, + and —

2 3and 6, - and X
/<3 3and 7, + and -
A 4 d4and 7, X and +

Question ID : 8161614936
Status : Answered
Chosen Option : 2
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Q.12 Select the option figure in which the given figure (x) is embedded (Rotation is NOT allowed).

Ans

Question ID : 8161614939

Status : Answered

Chosen Option : 4

Q13 Which number will replace the question mark (?) in the following series?

4,11,19,41,79,7, 319
Ans X 1. 281

v 2 161

<3 141

< 4 261

Question ID : 8161614934

Status : Answered

Chosen Option : 2

(7)
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Q.14 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first

letter-cluster.

COMBINED : XUNYOMIW :: INTEGRAL : ?

Ans  of 1. OMGITIEO
& 2. RMGITIEO
< 3. OMGITEIU
& 4 OMGITIEU

Question ID : 8161614917
Status : Answered
Chosen Option : 2

Q15 Four Different positions of the same dice are shown.

Find the number on the face opposite to the face showing “3°?

Ans (1_ 2
X2l
<36
X4 4

Question ID : 8161614938
Status : Answered
Chosen Option : 1

Q16 ‘K S D’ means ‘K is the father of D"
‘K < D" means ‘K is the wife of D’.
‘K = D’ means ‘K is the daughter of D".
‘K (@ D" means ‘K is the son of D’.
IfH>R S S@T =N, then how is H related to N?

Ans X 1. Niece
/< 2. Daughter-in-law

/< 3. Daughter
« 4 Maternal granddaughter

Question ID : 8161614930
Status : Answered
Chosen Option : 4

(8)
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Q.17 Select the option that represents the correct order of the given words as they would appear in an English dictionary.

. Longevity
. Logistic

It
2
3. Longitude
4. Longboat
5

 Tagotipe
Ans 1 2 4:5 1,3
X2 25134
3 2,54,1,3
r 8N R

Question ID : 8161614919
Status : Answered
Chosen Option : 3

Q.18 1In a code language, MAIDEN is written as ETHERA and LOCATION is written as SHEYMPRK. How will
FAVOURABLE be written as in that language?

Ans 1 EBSRQVFWIH
« > EBSRVQFWIH
X 3 EBSRQVFIWH
7 2 EBRSVQFWHI

Question ID : 8161614924
Status : Not Answered
Chosen Option : --

Q.19 If ‘Liver’ is related to ‘Human Body” in the same way as *Motor” is related to *
Ans X 1. Coil

< 2 Metal

« 5 Fan

X 4 Wings

Question ID : 8161614920
Status : Answered
Chosen Option : 3

Q.20 Pointing to a photograph of a man, Saketh says, “This man’s son’s sister is my mother-in-law.” How is Saketh’s wife
related to the man in the photograph?

Ans X 1. Daughter — in—law
& 2 Sister
« 3. Maternal granddaughter
X 4 Wife

Question ID : 8161614931
Status : Answered
Chosen Option : 3

©)
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Q.21 Select the option that is related to the third number in the same way as the second number is related to the first number
and the sixth number is related to the fifth number.

145203 1670 182333

Ans J1_ 39
X2 37
<320
X 4 25

Question ID : 8161614935
Status : Answered
Chosen Option : 1

Q.22 Tf A js coded as 11 and BOOK is coded as 83, then how will SEAT be coded as?
Ans ( 1. 85

X 2 8]

X 3. 83

X 4. 87

Question ID : 8161614925
Status : Answered
Chosen Option : 1

Q.23 If “Ground’ is related to ‘Play’ and *Gvm’ is related to “Exercise’ in the same way as “Airport” is related to g

Ans o 1. Travel
< 2. Socialise
/< 3. Prayer
< 4. Relax

Question ID : 8161614921
Status : Answered
Chosen Option : 1

Q.24 IfJOYFUL is coded as QPNAXD and PROFITABLE is coded as MCPASOZEDB, then how will FRUIT be coded as?

Ans  of 1 ACXSO
< 2. ACBMX
« 3. BHIDJ
< 4 NMGSA

Question ID : 8161614923
Status : Answered
Chosen Option : 1

(10)
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Q.25 Ina certain code langnage, FAMOUS is written as 2227151379 then how will AMAZING be written in the same code
language?

Ans X1, 2714272181321
/< 2 2715272191320
< 3 2615261191421
W 4 2715272191421

Question ID : 8161614927
Status : Answered
Chosen Option : 4

Section : English Language

Q.1 Fill in the blank with the most appropriate word.

When the train in the middle of a forest, passengers were in panic.
Ans J 1. stopped

x 2. are stopped

x 3. were stopping

x 4. stop

Question ID : 8161614947
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate meaning of the following idiom.

Kill two birds with one stone

Ans x 1. Manage to do many tasks together
x 2. Be very cruel to birds
x 3. Aim at two birds with precision

J 4. Accomplish'two different things at the same time

Question ID : 8161614952
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No substitution.

The peoples standing on the street are shouting in anger.
Ans x 1. A person

( 2. The people
x 3. No substitution

x 4. The person

Question ID : 8161614946
Status : Answered
Chosen Option : 2

(11)
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Q.4 Select the correct passive form of the given sentence.

| climbed the steep mountain quite easily.

Ans J 1. The steep mountain was climbed quite easily by me.
x 2. | was able to climb the steep mountain quite easily.
X 3. The steep mountain is climbed quite easily by me.

x 4. The steep mountain was being climbed quite easily by me.

Question ID : 8161614943
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate synonym of the given word.
SUPREME
Ans ( 1. head
x 2. evergreen
x 3. everlasting

x 4. inferior

Question ID : 8161614949
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate meaning of the following idiom.

Actions speak louder than words

Ans x 1. All your actions help you in understanding what to do

J 2. Intentions can be judged by people’s actions
x 3. Speaking loudly is the best way to let others know what you want

x 4. Whatever you speak is less important than what you write

Question ID : 8161614951
Status : Answered
Chosen Option : 2

Q.7 Select the correct indirect form of the given sentence.

Rakshit said, “l am bored of watching TV.”
Ans x 1. Rakshit said that he is getting bored of watching TV.

x 2. Rakshit says that he is getting bored of watching TV.
X 3. Rakshit said that he had been bored of watching TV.

of 4. Rakshit said that he was bored of watching TV.

Question ID : 8161614944
Status : Answered
Chosen Option : 4

(12)
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correct order.

A. And if you want to get them somehow, you have to approach some party

organizers, but they too usually entertain bulk orders.

Q.8 Given below are four sentences in jumbled order. Pick the option that gives their

B. Well, let me tell you how you can make your own gas balloons at home, and at

almost a fraction of the price.
C. As a child, gas balloons always fascinate you.

D. However, when you need them, you only find them being sold on the ‘unknown’

streets, during festivals, at a fair or near the beaches.

Ans  of 1 cDAB

#< 2.CBAD
/5 3.BACD
#< 4.BCAD

Question ID : 8161614948
Status : Answered
Chosen Option : 3

Q.9

Ans

Select the most appropriate antonym of the given word.

ADJACENT
x 1. immediate

J 2. distant
x 3. similar

X 4. attached

Question ID : 8161614950
Status : Answered
Chosen Option : 2

Q.10

Ans

Choose a one-word substitution for the given words.

One who is incapable of making mistakes or being wrong

X 1. Inaccurate

W 2. Infaliible

X 3. Inevitable

75 4. Ineligible

Question ID : 8161614954
Status : Answered
Chosen Option : 2

(13)
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Q.11 Select the correct indirect form of the given sentence.

The manager said, “Stop. | want you to understand the whole project before you start
working on it.”

Ans ( 1. The manager asked me to stop and told me that he wanted me to understand the
whole project before | started working on it.

x 2. The manager asked me to stop and told me he wants me to understand the whole
project before | will start working on it.

X 3. The manager said to me to stop and was told me he wanted me to understand the
whole project before | could start working on it.

x 4. The manager shouted me to stop and told me he wanted me to understand the
whole project before you started work on it.

Question ID : 8161614945
Status : Answered
Chosen Option : 3

Q.12 Choose a one-word substitution for the given words.

A person who is trained to travel in space
Ans X" 1. Pilot

J 2. Astronaut

X 3. Flyer

75 4. Physicist

Question ID : 8161614953
Status : Answered
Chosen Option : 2

Q.13 Select the correct passive form of the given sentence.

| like my new office.
Ans x 1. I am liking my new office.

x 2. My new office was liked by me.
x 3. My new office has been liked by me.

o 4. My new office is liked by me.

Question ID : 8161614942
Status : Answered
Chosen Option : 4

Q.14 Identify the word that is misspelt.
Ans x 1. Toffee

/X 2. Field
J 3. lliterate

x 4. Ignorance

Question ID : 8161614955
Status : Answered
Chosen Option : 3

(14)
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Q.15 Identify the segment in the sentence which contains the grammatical error.

Ans

The little boy was run away from his mother.

X 1. his mother
/5 2. The little boy

« 3. was run

x 4. away from

Question ID : 8161614941
Status : Answered
Chosen Option : 3

Q.16
Ans

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The coronavirus pandemic has brought most of the US to (1) standstill, forcing the
entertainment industry to plan for an (2) future. Theaters across the US have ceased
(3) in an effort to adhere to guidelines for social distancing and self-isolating

(4) help mitigate the spread of the virus. With uncertainty about the reopening, studios
(5) a series of adjustments in their release calendars.

SubQuestion No : 16

Select the most appropriate word to fill in blank no 1.

X 1. that
X 2. their
75 3.the

W a

Question ID : 8161614957
Status : Answered
Chosen Option : 4

Q.17
Ans

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The coronavirus pandemic has brought most of the US to (1) standstill, forcing the

entertainment industry to plan for an (2) future. Theaters across the US have ceased
(3) in an effort to adhere to guidelines for social distancing and self-isolating

(4) help mitigate the spread of the virus. With uncertainty about the reopening, studios
(5) a series of adjustments in their release calendars.

SubQuestion No : 17
Select the most appropriate word to fill in blank no 2.

« 1. uncertain

X 2. unconditional

X 3. unbelieving
X 4. invaluable

Question ID : 8161614958
Status : Answered
Chosen Option : 2

(19)
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Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The coronavirus pandemic has brought most of the US to (1) standstill, forcing the
entertainment industry to plan for an (2) future. Theaters across the US have ceased
(3) in an effort to adhere to guidelines for social distancing and self-isolating

4) help mitigate the spread of the virus. With uncertainty about the reopening, studios
(5) a series of adjustments in their release calendars.

SubQuestion No : 18
Q.18 Select the most appropriate word to fill in blank no 3.

Ans “ 1. operations
x 2. processing
x 3. advances

X 4. movements

Question ID : 8161614959
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The coronavirus pandemic has brought most of the US to (1) standstill, forcing the

entertainment industry to plan for an (2) future. Theaters across the US have ceased
3) in an effort to adhere to guidelines for social distancing and self-isolating

(4) help mitigate the spread of the virus. With uncertainty about the reopening, studios
(5) a series of adjustments in their release calendars.

SubQuestion No : 19
Q.19 Select the most appropriate words to fill in blank no 4.

Ans ( 1. in order to
X 2. with respect to

x 3. in reference to

X 4. so that to

Question ID : 8161614960
Status : Answered
Chosen Option : 1

(16)
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Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The coronavirus pandemic has brought most of the US to (1) standstill, forcing the
entertainment industry to plan for an (2) future. Theaters across the US have ceased
(3) in an effort to adhere to guidelines for social distancing and self-isolating

(4) help mitigate the spread of the virus. With uncertainty about the reopening, studios
(5) a series of adjustments in their release calendars.

SubQuestion No : 20
Q.20 Select the most appropriate word to fill in blank no 5.

Ans X 1. has to make
« 2. have made

X 3. is making
x 4. had made

Question ID : 8161614961
Status : Answered
Chosen Option : 2

Comprehension:
Read the given passage and answer the questions that follow.

He was an old man who fished alone in a skiff in the Gulf Stream and he had gone eighty-four
days now without a fish. In the first forty days a boy had been with him. But after forty days
without a fish, the boy’s parents had told him that the old man was definitely most unlucky,
and the boy had gone at their orders in another boat which caught three good fish the first
week.

It made the boy sad to see the old man come in each day with his skiff empty and he always
went down to help him carry either the coiled lines or the gaff and harpoon and the sail that
was furled around the mast.

The sail was patched with flour sacks and, furled, it looked like the flag of permanent defeat.
The old man was thin and gaunt with deep wrinkles in the back of his neck.

Brown blotches ran well down the sides of his face and his hands had the deep-creased scars
from handling heavy fish on the cords. But none of these scars were fresh.

Everything about him was old except his eyes and they were the same color as the sea and
were cheerful and undefeated.

“Santiago,” the boy said to him as they climbed the bank from where the skiff was hauled up.
“I could go with you again. We’ve made some money.”

The old man had taught the boy to fish and the boy loved him.

“No,” the old man said. “You're with a lucky boat.

Stay with them!”

SubQuestion No : 21
Q.21 Complete the sentence.

The old man and the boy:
Ans J 1. loved and understood each other

x 2. made money together and enjoyed it
x 3. never went fishing without each other.

x 4. used to get many injuries while fishing

Question ID : 8161614963
Status : Answered
Chosen Option : 4

(17)
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Comprehension:
Read the given passage and answer the questions that follow.

He was an old man who fished alone in a skiff in the Gulf Stream and he had gone eighty-four
days now without a fish. In the first forty days a boy had been with him. But after forty days
without a fish, the boy’s parents had told him that the old man was definitely most unlucky,
and the boy had gone at their orders in another boat which caught three good fish the first
week.

It made the boy sad to see the old man come in each day with his skiff empty and he always
went down to help him carry either the coiled lines or the gaff and harpoon and the sail that
was furled around the mast.

The sail was patched with flour sacks and, furled, it looked like the flag of permanent defeat.
The old man was thin and gaunt with deep wrinkles in the back of his neck.

Brown blotches ran well down the sides of his face and his hands had the deep-creased scars
from handling heavy fish on the cords. But none of these scars were fresh.

Everything about him was old except his eyes and they were the same color as the sea and
were cheerful and undefeated.

“Santiago,” the boy said to him as they climbed the bank from where the skiff was hauled up.
“I could go with you again. We’ve made some money.”

The old man had taught the boy to fish and the boy loved him.

“No,” the old man said. “You're with a lucky boat.

Stay with them!”

SubQuestion No : 22
Q.22 Which of the following does NOT describe the old man’s situation?

Ans K 1. His old and battered boat was a symbol of defeat.
x 2. He was thin with wrinkles, and had marks on his hands.
( 3. He felt dejected and had lost hope.

x 4. Though old, he was not feeling hopeless.

Question ID : 8161614966
Status : Answered
Chosen Option : 4

(18)
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Comprehension:
Read the given passage and answer the questions that follow.

He was an old man who fished alone in a skiff in the Gulf Stream and he had gone eighty-four
days now without a fish. In the first forty days a boy had been with him. But after forty days
without a fish, the boy’s parents had told him that the old man was definitely most unlucky,
and the boy had gone at their orders in another boat which caught three good fish the first
week.

It made the boy sad to see the old man come in each day with his skiff empty and he always
went down to help him carry either the coiled lines or the gaff and harpoon and the sail that
was furled around the mast.

The sail was patched with flour sacks and, furled, it looked like the flag of permanent defeat.
The old man was thin and gaunt with deep wrinkles in the back of his neck.

Brown blotches ran well down the sides of his face and his hands had the deep-creased scars
from handling heavy fish on the cords. But none of these scars were fresh.

Everything about him was old except his eyes and they were the same color as the sea and
were cheerful and undefeated.

“Santiago,” the boy said to him as they climbed the bank from where the skiff was hauled up.
“I could go with you again. We’ve made some money.”

The old man had taught the boy to fish and the boy loved him.

“No,” the old man said. “You're with a lucky boat.

Stay with them!”

SubQuestion No : 23
Q.23 Complete the sentence.

The boy’s parents:
Ans ( 1. stopped their son from fishing with the old man.

x 2. wanted their son to become a great fisherman.
x 3. liked their son working for the old fisherman.

x 4. were sad that the old man could not catch fish.

Question ID : 8161614964
Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

He was an old man who fished alone in a skiff in the Gulf Stream and he had gone eighty-four
days now without a fish. In the first forty days a boy had been with him. But after forty days
without a fish, the boy’s parents had told him that the old man was definitely most unlucky,
and the boy had gone at their orders in another boat which caught three good fish the first
week.

It made the boy sad to see the old man come in each day with his skiff empty and he always
went down to help him carry either the coiled lines or the gaff and harpoon and the sail that
was furled around the mast.

The sail was patched with flour sacks and, furled, it looked like the flag of permanent defeat.
The old man was thin and gaunt with deep wrinkles in the back of his neck.

Brown blotches ran well down the sides of his face and his hands had the deep-creased scars
from handling heavy fish on the cords. But none of these scars were fresh.

Everything about him was old except his eyes and they were the same color as the sea and
were cheerful and undefeated.

“Santiago,” the boy said to him as they climbed the bank from where the skiff was hauled up.
“I could go with you again. We’ve made some money.”

The old man had taught the boy to fish and the boy loved him.

“No,” the old man said. “You're with a lucky boat.

Stay with them!”

SubQuestion No : 24

Q.24 When the writer says, “...it looked like the flag of permanent defeat”, he means the
sail:

Ans x 1. had been with him for ever
( 2. was very old and in a bad condition
x 3. had an old flag flying on it

Z5 4. was notin a torn down condition

Question ID : 8161614967
Status : Not Answered
Chosen Option : --

(20)
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Comprehension:
Read the given passage and answer the questions that follow.

He was an old man who fished alone in a skiff in the Gulf Stream and he had gone eighty-four
days now without a fish. In the first forty days a boy had been with him. But after forty days
without a fish, the boy’s parents had told him that the old man was definitely most unlucky,
and the boy had gone at their orders in another boat which caught three good fish the first
week.

It made the boy sad to see the old man come in each day with his skiff empty and he always
went down to help him carry either the coiled lines or the gaff and harpoon and the sail that
was furled around the mast.

The sail was patched with flour sacks and, furled, it looked like the flag of permanent defeat.
The old man was thin and gaunt with deep wrinkles in the back of his neck.

Brown blotches ran well down the sides of his face and his hands had the deep-creased scars
from handling heavy fish on the cords. But none of these scars were fresh.

Everything about him was old except his eyes and they were the same color as the sea and
were cheerful and undefeated.

“Santiago,” the boy said to him as they climbed the bank from where the skiff was hauled up.
“I could go with you again. We’ve made some money.”

The old man had taught the boy to fish and the boy loved him.

“No,” the old man said. “You're with a lucky boat.

Stay with them!”

SubQuestion No : 25
Q.25 Which of the following is true about the old man?

Ans “ 1. He had not caught fish for eighty-four days.
X 2. He had eyes that looked old and sad.
X 3. He caught fish with ease for forty days.

X 4. He was in very poor health.

Question ID : 8161614965
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1  The bar graph given below shows the data of the production of paper (in lakh tonnes) by three different companies P. Q

and R over the years.

60
55

— mCompanyP
| mCompnayQ
m Company R

Quantity in Lakh tonnes
1)
=)

2010 2011 2012 2013

What is the percentage increase in the productionby company Q from 2010 to 2013?
Ans X" 1. 50%
< 2. 40%
X3 55%
v 4 50%

Question ID : 8161614990
Status : Answered
Chosen Option : 4

(21)
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Q.2  Which among the following can be expressed as (10p + q) (10q + p), where p and q are integers?
Ans X 1. 1456

X 21205

V'3 1729

X 41500

Question ID : 8161614968
Status : Not Answered
Chosen Option : --

Q3 fa+b—c)i(b+c—a):(a+c—b)=6:5: 7.theni :i :iisequalto:

Ans X1 156: 132 : 143
Vv 2 132:156: 143
<3 156: 143132
K 4 1431156132

Question ID : 8161614978
Status : Answered
Chosen Option : 2

Q4 1fq + b + c=6,a%+b%+c? = 30and a® + b® + ¢ = 165, then the value of
4abc is:

Ans X1 _
X2 —4
<31
v o4

Question ID : 8161614985
Status : Answered
Chosen Option : 4

Q.5 12 men and 16 women can complete a job in 5 days. 13 men and 24 women can complete the same job in 4 days. How
long, in days, will 5 men and 10 women take to complete the same job?

Ans X 1 5
X212
V'3 10
X 4 15

Question ID : 8161614980
Status : Not Answered
Chosen Option : --

(22)
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Q.6 If a nine-digit number 43x1145y2 is divisible by 88, then the value of (2x — ), for the largest value of v, is:

Ans  of 1|
X235
K30
X4 -1

Question ID : 8161614969
Status : Answered
Chosen Option : 1

Q.7 Avender bought 40 dozen fruits for 23,000. Out of these, 30 fruits were rotten and thrown away. At what rate (in Z) per
dozen should the vendor sell the remaining fruits to make a profit of 25% in the entire transaction?

Ans  of 1. 100
<2 80
< 390
K4 75

Question ID : 8161614975
Status : Answered
Chosen Option : 1

Q.8 Ais20% more than B, B is 25% more than C, C is 50% less than D and D is 10% more than E. Which of the following
is true?

Ans  of 1. A s 17.5% less than E
< 2. D is 30% less than B
#< 3. Ais 40% less than D
< 4 Cis 24% less than A

Question ID : 8161614974
Status : Not Answered
Chosen Option : --

Q.9 Ifx is subtracted from each of the numbers 20, 37, 54 and 105, then the numbers so obtained in this order are in
proportion. What is the mean proportional between (7x — 5) and (x + 6)?

Ans j1_ 12
<215
<310
X4 18

Question ID : 8161614977
Status : Answered
Chosen Option : 1

(23)



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.10 The following pie diagram gives the marks scored by a student in different subjects in an examination. Assuming that
the total marks scored by the student in the examination are 540, answer the question below.

The subject in which the student scored 123 marks is:
Ans 1. English
& 2. Hindi
' 3. Science
< 4 Maths

Question ID : 8161614992
Status : Answered
Chosen Option : 3

Q.11 Ina press, there are three types of printing machines, P, Q and R. Machine P can print 10,000 pages in 8 hours, machine
Q can finish the same task in 10 hours and machine R can finish the same task in 15 hours. All the three machines start
the work at 9:00 a.m. Machine P breaks down at 11:00 a.m. and machines Q and R finish the task. The approximate time

of completion of the job is:
Ans 1. 2:05 p.m.
< 2. 2:30 p.m.
75 3. 1:50 p.m.
W 4 1:30 p.m.

Question ID : 8161614981
Status : Not Answered
Chosen Option : --

Q12 1 5ing sec?d = S, 0° < 8 < 90°, then the value of (tan®8 + sin’#) is:
Ans 7
v i —
12
X 2 E
12
< 3. E
12

. 5
4,
g

Question ID : 8161614989
Status : Answered
Chosen Option : 1

(24)
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Q.13 The bar graph given below shows the data of the production of paper (in lakh tonnes) by three different companies P, Q

and R over the years.

60
55
50
45
40 -
35
30
25 4
20 |
15
10
5
0

m Company P
m Compnay Q
u Company R

Quantity in Lakh tonnes

2010 2011 2012 2013
What is the ratio of the average produection by company P during the period 2010 to 2013 to the average production by

company R during the same period?

Ans X1 3] :32

X< 2 33:35
W3 34:35
X 4 30:31

Question ID : 8161614991
Status : Not Answered
Chosen Option : --

Q.14 The parallel sides of a trapezium are 30 cm and 20 cm and its non-parallel sides are both equal. If the area of the

trapezium is 300 cm?, then what is the length (in cm) of each non-parallel side?
Ans x 1. 10
X215
X312
v 13

Question ID : 8161614984
Status : Answered
Chosen Option : 4

Q.15 Anarticle is marked at a price that is 20% more than its cost price. After allowing a certain discount on the marked
price, the profit reduces to 10%. The discount percentage is:

Ans X1 1204
x 2 1(1; %

1

X 72%

v & 83 %%

Question ID : 8161614972
Status : Not Answered
Chosen Option : --
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Q.16 The sides AB and AC of A ABC are produced to points D and E, respectively. The bisectors of £ CBD and £ BCE meet
atP. If £ZA =827, then the measure of £P is:

Ans X1 540
< 2 60°
< 3 36°
v 4 490

Question ID : 8161614987
Status : Answered
Chosen Option : 4

Q.17 The average marks obtained by 240 students in a certain examination is 35. If the average marks of the passed
candidates are 39 and that of the failed candidates are 15, then the total number of candidates who passed the
examination is:

Ans (1. 225
< 2 180
W 3 200
X4 210

Question ID : 8161614970
Status : Answered
Chosen Option : 3

Q.18 The average weight of the students in a group was 75.4 kg. Later on, four students having weights 72.9 kg, 73.8 kg, 78.5
kg and 88.4 kg, respectively, joined the group. As a result, the average weight of all the students in the group increased
by 0.24 kg. What was the number of students in the group initially?

Ans (1_ 46
<2 48
<3 50
< 4 51

Question ID : 8161614971
Status : Not Answered
Chosen Option : --

Q.19 A sum of T95 amounts to T105 in 3 years at a certain rate of simple interest. In 5 years, at the same rate of interest, what
will a sum 0of¥171 amount to:

Ans  of 1. 3201
K2 3175
X3 2215
< 4 T189

Question ID : 8161614979
Status : Answered
Chosen Option : 1

(26)
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Q.20 A person takes 40 minutes more than his usual time when he covers a distance of 20 km at 5 kmvh. If he covers the same
distance at 10 km/h, he takes x minutes less than the usual time. What is the value of x ?

Ans X 1. 120
2 30
< 3100
< 460

Question ID : 8161614983
Status : Answered
Chosen Option : 2

Q.21 1 244/3x% + 5v5y° = (2v3x + V5y) X (Ax? — Bxy + Cx?), then what is the value of (42 — B2+ C?)?
Ans 1. 189

X 2 111

V'3 109

X 4. 169

Question ID : 8161614986
Status : Not Answered
Chosen Option : --

Q.22 D isa point on the side BC of AABC such that ZADC = £BAC. If CA= 12 cm and BC = 16 cm, then the length
of CD is:

Ans X' 1. 12 cm
< 2 6cm
< 3 8cm
v 4 9cm

Question ID : 8161614988
Status : Answered
Chosen Option : 4

Q.23 Two trains of same length are running on parallel tracks in the same direction at 56 km'h and 44 km/h, respectively. The
faster train passes the other train in 63 seconds. What is the length (in m) of each train?

Ans X1, 125
< 2 150
V'3 105
< 4 110

Question ID : 8161614982
Status : Answered
Chosen Option : 3

(27)
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Q.24 A shopkeeper has 76 articles of same price. He sells 20 articles at a profit of 15%, 40 at a profit of 19% and the
remaining at a profit of 25%. He ends up making a profit of 27,740. The cost price (in ) of | article is:

Ans % 1. 2.000
X 2 1,387
W 5 1,900
X 4 2,100

Question ID : 8161614976
Status : Answered
Chosen Option : 3

Q.25 Aworks in a company. From his monthly salary, 15% is deducted as house rent, and he spends 15% on children’s
education and 20% on others. If he is left with ¥8,750, then his total monthly salary (in ) is:

Ans 1. 15,000
X< 2..20,000
< 3. 50,000
v 4 17,500

Question ID : 8161614973
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 Which of the following states has a beach named Calangute Beach?

Ans J 1. Goa
X 2. Kerala

75 3. Tamil Nadu

X 4. Maharashtra

Question ID : 8161615004
Status : Not Answered
Chosen Option : --

Q.2 Who among the following is the author of the novel titled ‘Gun Island’?
Ans ( 1. Amitav Ghosh

#< 2. Shashi Tharoor
75X 3. Vikram Seth

75 4. Arundhati Ray

Question ID : 8161615011
Status : Answered
Chosen Option : 2
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Q.3 In which of the following cities is Guru Nanak Dev believed to have attained
enlightenment?

Ans J 1. Sultanpur Lodhi
x 2. Amritsar
x 3. Manikaran

/X 4. Talwandi

Question ID : 8161614993
Status : Answered
Chosen Option : 2

Q.4 During the age of Buddha, the capital of Vajji ‘mahajanapada’ was at:
Ans x 1. Pavapuri

x 2. Champa
/X 3. Mahishmati

o 4. Vaishali

Question ID : 8161615009
Status : Answered
Chosen Option : 2

Q.5 The Jaitapur nuclear power plant, which has been under a lot of controversy, is slated
to be set up in which state of India?

Ans x 1. Rajasthan
J 2. Maharashtra
75 3. Tamil Nadu

x 4. Madhya Pradesh

Question ID : 8161615005
Status : Answered
Chosen Option : 1

Q.6 In which state is the Harappan culture site ‘Sanauli’ located?
Ans J 1. Uttar Pradesh

x 2. Haryana
x 3. Gujarat
/X 4. Punjab

Question ID : 8161615007
Status : Answered
Chosen Option : 2
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Q.7 InJanuary 2020, who among the following entrepreneurs was conferred the highest
civilian honour of Australia?

Ans J 1. Kiran Mazumdar-Shaw
x 2. Ratan Tata
75 3. Shiv Nadar

x 4. Gautam Adani

Question ID : 8161615013
Status : Answered
Chosen Option : 1

Q.8 The Union Government has approved the setting up of a major port at a place called
Vadhavan. In which of the following states is Vadhavan located?

Ans X" 1. Karnataka

/X 2. Odisha
x 3. Goa

J 4. Maharashtra

Question ID : 8161614998
Status : Not Answered
Chosen Option : --

Q.9 Which of the following articles of the Constitution of India enumerates the provisions
for citizenship at the time of commencement of the Constitution?

Ans X 1. Article 4

o 2. Article 5

/5 3. Article 3
/X 4. Article 2

Question ID : 8161615015
Status : Answered
Chosen Option : 2

Q.10 Who among the following is NOT a Padma Vibhushan awardee for the year 2020?
Ans x 1. Sushma Swaraj

X 2. MC Mary Kom
J 3. Anand Mahindra

x 4. Chhannulal Mishra

Question ID : 8161615012
Status : Answered
Chosen Option : 2
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Q.1
Ans

The mineral called carnotite is an important source of:

75 1. copper
75 2. silver
o 3. uranium
75 4. gold

Question ID : 8161615002
Status : Answered
Chosen Option : 3

Q.12 Who among the following presides over any joint sitting of both the houses of the

Parliament of India, convened to resolve deadlock over any bill?

Ans x 1. President

#< 2. Vice-President

x 3. Any person appointed by the President

J 4. Speaker of the Lok Sabha

Question ID : 8161615014
Status : Answered
Chosen Option : 4

Q.13 Of the following products, which one has earned the Geographical Indication (Gl) tag

Ans

for Dindigul, Tamil Nadu, in the year 20197

J 1. Locks
x 2. Dosa

x 3. Scissors

75 4. Knives

Question ID : 8161614994
Status : Answered
Chosen Option : 1

Q.14
Ans

Which of the following elements is NOT a Halogen group element?

J 1. Graphene
#5 2. Chlorine

x 3. lodine

x 4. Astatine

Question ID : 8161615001
Status : Answered
Chosen Option : 4
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Q.15 Through which of the following states does the Zuari river pass?
Ans " 1 Odisha

x 2. Madhya Pradesh

( 3. Goa

#< 4. Tamil Nadu

Question ID : 8161615003
Status : Not Answered
Chosen Option : --

Q.16 In September 2019, the Union Government launched an initiative nicknamed as
UMMID. This initiative is aimed at:

Ans x 1. providing medical cover to the home-less Indians
J 2. tackling inherited genetic diseases of new born babies
x 3. promoting the use of generic medicines

x 4. promoting gender equality at workplaces

Question ID : 8161615016
Status : Answered
Chosen Option : 4

Q.17 In which international sports event does Rani Rampal represent India?
Ans x 1. Cycling

x 2. Wrestling

( 3. Hockey

75 4. Judo

Question ID : 8161615017
Status : Answered
Chosen Option : 3

Q.18 In February 2020, an Indian defence firm called JSR Dynamics came up with its missile
named ‘Khagantak’. The air-to-ground strike range of the missile is km.

Ans  of 1 180
75 2.400
/X 3.320
/X 4.240

Question ID : 8161614997
Status : Answered
Chosen Option : 1
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Q.19 Under the Maratha administration, the title for the Prime Minister was:
Ans « 1. Peshwa

x 2. Sumant

/5 3. Pundit Rao
x 4. Sar-i-Naubat

Question ID : 8161615008
Status : Answered
Chosen Option : 1

Q.20 The Uttarakhand government has declared its intention to construct the first glass-
floor bridge of India at:

Ans 3 1. Auli

o 2. Rishikesh

/5 3. Nainital

x 4. Haridwar

Question ID : 8161614996
Status : Answered
Chosen Option : 2

Q.21 With which of the following states is the harvest-festival ‘Nuakhai’ traditionally
associated?

Ans x 1. Nagaland

X 2. Kerala
o 3. Odisha

#< 4. Himachal Pradesh

Question ID : 8161614995
Status : Answered
Chosen Option : 1

Q.22 Who among the following was replaced by Lord Mountbatten as the Viceroy in 1947?
Ans X" 1. Lord Linlithgow

x 2. Lord Reading
/< 3. Lord Irwin

of 4. Lord Wavell

Question ID : 8161615010
Status : Answered
Chosen Option : 1
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Q.23 In which of the following states/union territories is the Mahatma Gandhi Marine
National Park situated?

Ans { 1. Andaman and Nicobar Islands

x 2. Gujarat
#< 3. 0Odisha

x 4. Dadra and Nagar Haveli

Question ID : 8161615006
Status : Answered
Chosen Option : 2

Q.24 As of April 2020, how many moons does the dwarf planet Pluto have?

Ans  of 15
K 2.4
X33
X 46

Question ID : 8161615000
Status : Not Answered
Chosen Option : --

Q.25 The property of metals by the virtue of which they can be beaten into thin sheets is
called:

Ans x 1. conductivity
of 2. malleability

X 3. rancidity

#< 4. ductility

Question ID : 8161614999
Status : Answered
Chosen Option : 2
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